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3.3: Higher-Order Linear, Homogeneous Equations with Constant Coefficients
Factoring Techniques

Equations of Quadratic Type Use substitution to solve the following.
o vt + 1422 +45=0

z
o (2 + )W+ 18(x*+2)+72=0

c D= A US = () # 1M 0) HHS = (xm(x»ﬂ

- X
=7 X= /gLJ’
- b-12
Vs ek 27 0= Wrlbur 7T = (w) lure) <7 u= 6
_ i}"im ’*"%
g “rxz b or-1? x Cexr6=0 ~ '
o >< - _Ca 47
* X w0 =y RS J/_ ’—; gz
gy
Factor by Grouping Solve the following.
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Longf Dhivision Solve the equation ® — 2% 4 42 — 4 = 0 given that z = 1 is
one of the solutions.
So L]l =1 4 -M
S L o H
= (x-13(x*Y) - XQ . u(
| L Lo o =7



